
https://www.pass2lead.com/p2090-045.html
2024 Latest pass2lead P2090-045 PDF and VCE dumps Download

 

 

 

P2090-045Q&As

IBM InfoSphere Information Server for Data Integration Fundamentals
Technical Mastery Test v1

Pass IBM P2090-045 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/p2090-045.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest P2090-045 Dumps | P2090-045 Study Guide | P2090-045 Exam Questions                                1 / 3

https://www.pass2lead.com/p2090-045.html
https://www.pass2lead.com/p2090-045.html
https://www.pass2lead.com/p2090-045.html


https://www.pass2lead.com/p2090-045.html
2024 Latest pass2lead P2090-045 PDF and VCE dumps Download

QUESTION 1

Which of the following statements about InfoSphere Data Architect is correct? 

A. You CANNOT create a logical model from a physical model 

B. InfoSphere Data Architect can deploy physical data models directly to the database management system 

C. Reverse engineering data models only works for DB2 databases 

D. InfoSphere Data Architect is installed using the Information Server installation wizard 

Correct Answer: B 

 

QUESTION 2

Which statement about Metadata Workbench is incorrect? 

A. It can extend data lineage to display data integration flows that are outside of Information Server 

B. It relies on the repository functions in DataStage Designer for impact analysis 

C. It displays data lineage reports 

D. It allows Metadata Workbench administrators to associate data stewards with data objects 

Correct Answer: B 

 

QUESTION 3

A file contains a very large number of records with unique groups based on a key. Which Grouping Method would you
prefer to use in the Aggregate Stage for aggregating the data? 

A. Hash 

B. Sort 

C. Random 

D. Round Robin 

Correct Answer: B 

 

QUESTION 4

Information Services Director provides multiple binding options. Which of the following statements about bindings is
correct? 

A. Multiple bindings can be associated to the same service 
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B. The choice of binding depends on the information provider used 

C. Bindings are set at the application level 

D. Bindings are set at the individual operation level 

Correct Answer: A 

 

QUESTION 5

Which description below about the Sort Stage is invalid? 

A. Sort Stage uses temporary disk space while performing sort 

B. It has a property to create a Key Change Column 

C. All the incoming records must have different values for sorting key 

D. Sort can be executed in sequential mode or parallel mode 

Correct Answer: C 
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